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Choose the correct answer from the following: lx20=20

1. Social work philosophy is:
a. Democratic
c. Neither democratic nor humanitarian

b. Humanitarian
d. Democratic as well as humanitarian

2. Constructive Use of Relationship is of social work.
a. Tool b. Skill c. Method d. Theory

3. In social work practice, right to self-determination lies with:
a. Social worker b. Client
c. Social welfare agency d. All of the above

4. Field work in social work training aims:
a. To practice what is being learnt
c. To understand theories

b. To know problems
d. To understand society

5. Which is the oldest institute of social work in India?
a. Tata Institute of Social Sciences.
b. Sir Dorabji Tata Graduate School of Social Work.
c. Indore School of Social Work.
d. Delhi School of Social Work.

6. Acceptance is a principle of social work which implies?
a. Accepting the client in his/her appearance.
b. Extending warm welcome to the client.
c. Accepting the client as he/ she is.
d. Accepting the clients' version as it is.

7. Charity organization society in London was formed in the year:
a. 1847 b.1874 c. 1869 d.1877

8. Which of the following is considered as the source of social work?
a. Psychological need b. Financial need
c. Interviewing d. None of the above

9. Social welfare administration is of Social work.
a. Method b. Technique
c. Model d. None of the above

10. Social work provides services to:
a. Weaker and vulnerable section
c. People with maladjustment

b. People with emotional stress
d. All of the above
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11. When the settlement house movement starts at Britain?
a.1882 b.1883 c.1884 d.1885 ( PARI-B ; Descriptive J

12. Neighborhood Guild is the first:
a. UK settlement house
c. African settlement house

b. US settlement house
d. None of the above

Time: 2 hrs. 40 min.

13. Which of the following is not a social function performed by social welfare?
a. Social provision b. Social service
c. Social action d. Social research

1. What is social work? Briefly explain social work's relation with other
social sciences.

14. The classification of poor into impotent, able bodied and idle poor was done by:
a. Charity organization society b. Elizabethan poor law
c. Settlement house movement d. None of the above

2. Explain the Gandhian Ideology and its relation with Social Work
Profession.

15. . can be considered as the first professional social workers in USA.
a. Jane Adams b. Ellen Starr
c. Mary E. Richmond d. one of the above

16. Elizabethan poor law is also known as:
a. 41 Elizabeth
c. 43 Elizabeth

3. Briefly discuss the methods of Social Work.

4. Briefly explain the principle of individualization and principle of
confidentiality with example from field work.

5. Briefly explain about the settlement house movement and charity
organization society.

6. Explain the social work values related to problem and relation.

7. Why code of ethics of social work practice is essential for the social work
professionals? Briefly discuss the ethical responsibilities of the social
worker.

b. 42 Elizabeth
d. 44 Elizabeth

17. Whicli. of the following method of modern social work was used by COS?
a. C se work b. Group work
c. Social action d. None of the above

18. The principle of flexible functional organization is associated with:
a. Case work b. Group work
c. Community organization d. Social work research

19. . is a process in which efforts are directed towards meeting the community
needs and developing integration within the community.
a. Community development b. Community work
c. Co, .ununity organization d. None of the above

20. Research in social work has been defined as the scientific testing of the validity of
social work function and method.
a. True b. False

8. Write short notes on:
a. Field work.
b. Objectives of Social Work.
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